


10 PRT-004939

x1

12 PRT-001440 6mm

x8

8 PRT-005211

x4

9 PRT-005361

x1

11 PRT-007606

x1

16 PRT-001836

x2

15 PRT-000582

x1

13 PRT-000783 10mm

x2

14 PRT-001893 13mm

x2

17 PRT-000356

x2

18 PRT-000158

x8

22 PRT-003562

x5

19 PRT-000848

x2

20 PRT-001325

x2

21 PRT-000171

x3

23 PRT-001228

x1

26 PRT-005318 L-227cm

x1

28 M8

x12

24 PRT-000588

x1

25 PRT-002324

x2

27 PRT-005319 L-319cm

x1

30 M10-S

x5

29 M10

x8

Stückliste / Parts list / Seznam dílů / Lista części / Комплектация / 
Liste de pieces 

2

4 ASM-002550

x1

1 ASM-001590

x1

2 ASM-001397

x1

3 ASM-001591

x1

7 PRT-004437

x2

5 ASM-001393

x2

6 PRT-003561

x2



M10 x 5536

x2

M8 x 2533

x1

M8 x 5534

x10

M10 x 4535

x4
 M10 x 6537

x2

M10 x 7538

x5

D1032

x22

D831

x21

Stückliste / Parts list / Seznam dílů / Lista części / Комплектация / 
Liste de pieces 

3



8

37

13 36

4

31 28

5

32

29

32

29

8

31

34

23

28

31

11

28

31

31

34

6

4 ASM-002550 x1

5 ASM-001393 x1

6 PRT-003561 x1

8 PRT-005211 x2

11 PRT-007606 x1

13 PRT-000783 10mm x1

23 PRT-001228 x1

28 M8 x7

29 M10 x2

31 D8 x13

32 D10 x2

34 M8 x 55 x6

36 M10 x 55 x1

37  M10 x 65 x1

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

4



16

19

16

1

17

19

17

25

24

25

1 ASM-001590 x1

16 PRT-001836 x2

17 PRT-000356 x2

19 PRT-000848 x2

24 PRT-000588 x1

25 PRT-002324 x2

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

5



9

2

32

29

15

6

13

38
37

34

5

8

8

31
28

31

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

6

2 ASM-001397 x1

5 ASM-001393 x1

6 PRT-003561 x1

8 PRT-005211 x2

9 PRT-005361 x1

13 PRT-000783 10mm x1

15 PRT-000582 x1

28 M8 x4

29 M10 x2

31 D8 x8

32 D10 x2

34 M8 x 55 x4

37  M10 x 65 x1

38 M10 x 75 x1



26

21 PRT-000171 x1

26 PRT-005318 L-227cm x1

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

7

21



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

8

12 PRT-001440 6mm x2

14 PRT-001893 13mm x2

18 PRT-000158 x2

22 PRT-003562 x2

30 M10-S x2

32 D10 x4

35 M10 x 45 x1

36 M10 x 55 x1

32

12

22
12

18

32

30

35

32

18

30
32

14 22

14

36



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

9

27 PRT-005319 L-319cm x1

28 M8 x1

33 M8 x 25 x1

28

27

33



Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

10

7 PRT-004437 x2

12 PRT-001440 6mm x6

18 PRT-000158 x6

22 PRT-003562 x3

30 M10-S x3

32 D10 x6

35 M10 x 45 x3

30

35
32

18 7
12

12

7

18 32
30

18

32

35

12

22
12

1832

22



10 PRT-004939 x1

29 M10 x4

32 D10 x8

38 M10 x 75 x4

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

11

32

32

38

10

32

29

32

38

29



3 ASM-001591 x1

20 PRT-001325 x2

21 PRT-000171 x2

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

12

20

21

3

20



i

Montageanleitung / Assembly / Montageanleitung / Montážní návod / 
Schemat montażu / Инструкция по монтажу / Instruction d‘installation 

13


